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BM40Y 40/45E S 4kg & kg 700
7 20/22% KI5 5kg & kg 800

J1) 10kg == 1A 5= kg | 1,400 EiE
Y 9kg == 1A 5B kg | 1,350 EiE
71 6/7kg =5 1A bS] kg | 1,300 TBE
71 7/9kg Edor] 1A ) kg | 1,300 TE
71 10/12kg R 1A £ kg | 1,100 TE B
71 8/9kg RIG 1A ) kg | 1,050 1E FE
ro4n 6/ FE 7/8kg B kg | 1,100 Bl EE
hyA 3kg Zig 1A ) kg | 2,000 £
hvFt 2 BiE 5kg & kg | 1,600 £
huA 3E = I 6/7kg & kg | 1,400 #
T8 2/5kg REAR 1A 78 ke | 2,900 8 EX MZEE
TR 2 R 4/5kg 5= kg | 2,600 EE JEX
£ B 4 Fh [ 5/5.5kg i kg | 3600 | & BEEH Af10 HREHIC
* B 5 GEdor] 5/5.5kg 5= kg | 3200| # REHE Af10 HEHIC
=R 2kg& 1 1A & kg | 2,600 ETE &K
H£LS5R GEdon] 100g P P 500
RAIKRZILAA RE 300g 4 # | 1,100
RAILKRZILAA = 350g 4 # | 1,200
EHRZILAH 218 = 34 # | 1,100
BATRAT #9160¢g dbiEE 34 L34 350
ry+H #9300g tiEE & kg | 1,600
T 150/180g & & kg | 2,600
==91%=! 300/400g o & kg | 2,600




